HAYYMM M3OBPETATb
BYAYLLEE

$0000(Toeoeooesocoe

.
.
.
.
.
.
.
3
.
.
.
.
3
3
°

CocTas



HAYYUM U3OBPETATb
BYAYLUEE

HasBaHue goetanu

[MnacTtuHa 1x5

MnactumHa 1xX10

MnactuHa 2x10

[NnactmHa 3x5

[NnactrnHa
TpeyrosbHaa 4x4

Yron nanockmm 90°
5x5

Yron nnockmm 135°
3x3

Yron nnockmm 135°
5x5

Yron (1.1)x3

Yron (1_1)x5

N306paykeHne

KonwnyecTBo (LUT.)

4

16

HasBaHue getanu

Banka (2_3_2)x7

Banka (1_2_1)x10

banka (1_2_1)x15

banka (1_2_1)x20

BUHT M4x8

BUHT M4x16

BUHT M4x25

LLInmnnbka M4x35

LLnmnnbka M4x80

LLnmnbka M4x180

306parkeHne

TRIK

KonuuecTso (WwT.)

2

60
20

15



HAYYUM U3OBPETATb
BYAYLUEE

HasBaHue goetanu

aka M4
dnaHueBasd

Fanka M4
cTonopHasa

Fanka M4
KOMMaYyKoBay

Faka M4
coeamHuTeNnbHag

LLlanba M4
HeMIoHOBag

Konbuo 2 MM

KonbLo 3.4 MM

Konbuo 5 mm

LLlecTepHd Manada

LLlecTepHa 6onbLlas

N306paykeHne

©

—9

7
|

©

©

S
S

KonwnyecTBo (LUT.)

90

20

10

20

10

10

10

HasBaHue getanu 306parkeHne

Pellka 3yb4yaTas

BapabaH 20 MM

Brok 2x1 \@,3
LLknB

Kptok

LlecTnrpaHHmK L-
06pasHbIN 2.5 MM

Knrou
KOMOUHMPOBaHH b
(pasmep xBaTa —

7 MM)

KaTylwKa C HUTbIO
3M

Pe3nHKa

TRIK

KonuuecTso (WwT.)



svavigee TRIK

@ @ o trikset  trikset.com support@trikset.com


https://trikset.com/
mailto:support@trikset.com

